% 5 % Datum

B NBITIFEE

Wi | Datum ‘1% 2 % 3% 4 5 5 % 6 %
= Mz | H=E Mz | H=E Mz | H=E Mz | H=E Mz | H=E %
1 366 2 -5 2 -5 2 2 2 1 2 -5 2 2
2 563 2 2 -12 2 -12 6 2 2 6 2 6 2
3 79 0 -3 -3 -3 -3 1 0 1 1 1 8 1
4 1003 8 8 8 8 -15 8 8 8 -15 8 -15 8
5 -20 4 -2 -3 -2 5 -2 3 -3 4 -5 3 -3
6 153 1 1 6 -6 7 8 -5 -5 -5 -5 -5 7
7 553 2 3 1 1 2 2 2 -12 -2 2 2 1
8 -323 -3 -8 -2 -3 11 -2 5 -3 -2 9 -5 -3
9 170 -1 1 1 1 -6 -1 4 1 1 1 6 -6
10 211 -2 -1 -3 -3 -3 -2 2 -3 7 -3 -2 7
11 84 -6 2 -4 2 2 -4 -4 8 2 -4 8 -4
12 133 0 1 -1 1 0 0 1 1 0 -2 0 -2
IMP+ 19 18 18 15 29 27 29 22 23 23 35 28
IMP- -12 -19 28 -22 -39 11 -9 -26 -24 -24 27 18
IMP 2411 7 -1 -10 -7 -10 16 20 -4 -1 -1 8 10
JE(+) Kbk | EAf SR | Em | ikADF | B | RA | ERAK) ABER | Tt 5| Gk
P (+) WK | R | URERRE | el | ZAME | xS | EIEW | AR | BT | SR | Mot | AT
K (-) R | RRT Y Bvh | IR | BRBAVE | SRER | IR | R | BHESL | XIARE | F ik
7 (-) X | BRadgs | oxah | ZEEAE L ATARAR | RE | AR | EUUR ) ZEkE | BRG] B | BOCH
VN HegEER] a1 [ ZREB K] KL=k [ FaEB K] FELzha)
EEA FOIE(HE LB (1 oI hiciziE L] =:ba) Eilzzha)




